Intern. J. Fuzzy Mathematical Archive Vol. 5, No. 1, 2014, 29-38 ISSN: 2320 –3242 (P), 2320 –3250 (online) Published on 15 December 2014 www.researchmathsci.org

Product of k-EP Block Matrices in Minkowski Space

K. Bharathi

Department of Mathematics, St. Paul's College of Arts and Science Coimbatore-641025, India. Email: kbarathi_1975@yahoo.co.in

Received 1 December 2014; accepted 12 December 2014

Abstract. Necessary and sufficient conditions for the product of k-EP matrices of rank r to be k-EP matrix in Minkowski space m is derived. Also equivalent conditions for the product of two k-EP block matrices to be k-EP are established. As an application we have shown that a block matrix in Minkowski space can be expressed as a product of k-EP matrices in m.

Keywords: Minkowski space, Range symmetric matrices

AMS mathematics Subject Classification (2010): 15A57

1. Introduction

Throughout we shall deal with $C^{n \times n}$ the space of complex n-tuples. Let G be the Minkowski metric tensor defined by $Gx = (x_1, -x_2, -x_3, \dots, -x_n)^T$ for $x = (x_1, x_2, x_3, \dots, x_n) \in C^n$. Clearly the Minkowski metric matrix

$$G = \begin{pmatrix} 1 & 0 \\ 0 & -I_{n-1} \end{pmatrix} \quad G = G^* \text{ and } G^2 = I_2$$
 (1.1)

Minkowski inner product on C^n is defined by (u,v) = [u,Gv], where [.,.] denotes the conventional Hilbert space inner product. A space with Minkowski inner product is called a Minkowski space and denoted as *m*. With respect to the Minkowski inner product, since

$$(Ax,y) = (x,A^{*}y), A^{*} = GA^{*}G$$
 (1.2)

is called the Minkowski adjoint of the matrix $A \in C^{n \times n}$ and A^* is the usual Hermitian adjoint.

(P.1) For
$$A_1, A_2 \in \mathbb{C}^{n \times n}$$
, $(A_1 + A_2)^{\sim} = A_1^{\sim} + A_2^{\sim}$, $(A_1 A_2)^{\sim} = A_2^{\sim} A_1^{\sim}$ and $(A_1^{\sim})^{\sim} = A_1$

Let A^{\dagger} be a generalized inverse (AA^{\dagger}A=A) and A^{\dagger} is the Moore Penrose of A [9].

A matrix A is called EP_r, if rk(A) = r and $N(A) = N(A^*)$. It is well known that (p.163[1]) A is EP if and only if $AA^{\dagger} = A^{\dagger}A$. The concept of EP matrices over the field of complex number was introduced by Schwerdfeger where rk(A), N(A) and R(A) denote the rank of A, null space of A and range space of A respectively.

Throughout let 'k' be a fixed product of disjoint transpositions in $S_n = \{1, 2, ..., n\}$ and K be the associated permutation matrix satisfying (P.2) $K^2 = I_n$ (P.3) $K^{\sim} = GK^*G = GKG = K$

A matrix $A = (a_{ij}) \in C^{n \times n}$ is k-hermitian if $a_{ij} = \bar{a}_{k(j),k(i)}$ for i, j = 1, 2, ..., n. A theory for k-hermitian matrices is developed in [3]. The concept of k-EP matrices is introduced in [6] as a generalization of k-hermitian matrices and as an extension of complex EP matrices ([1]). For $x = (x_1, x_2, ..., x_n)^T \in C^n$, let $\mathbf{k}(x) = (x_{k(1)}, x_{k(2)}, ..., x_{k(n)})^T \in C^n$.

A matrix $A \in C^{n \times n}$ is said to be k-EP if it satisfies the condition $Ax = 0 \Leftrightarrow A^* \hbar$ (x) = 0 (or) equivalently N(A) = N(A*K). Moreover, A is said to be k-EP_r if A is k-EP and rk (A) = r. Let $k = k_1k_2$ as in Lemma (2.12) of [6], where k_1 is the product of disjoint transpositions on $S_n = \{1, 2, ..., r\}$ leaving (r+1,r+2,...,n) fixed and k_2 is the product of disjoint transpositions leaving (1,2,...,r) fixed. Then the associated permutation matrix of $k = k_1k_2$ is

$$K = \begin{pmatrix} K_1 & 0 \\ 0 & I_{n-r} \end{pmatrix} \begin{pmatrix} I_r & 0 \\ 0 & K_2 \end{pmatrix} = \begin{pmatrix} K_1 & 0 \\ 0 & K_2 \end{pmatrix}$$
where $\begin{pmatrix} K_1 & 0 \\ 0 & I_{n-r} \end{pmatrix}$ and $\begin{pmatrix} I_r & 0 \\ 0 & K_2 \end{pmatrix}$
(1.3)

are the permutation matrices corresponding to the transpositions k_1 and k_2 respectively. For further properties of k-EP matrices one may refer [6]. Let us partition the Minkowski metric tensor G of order n in conformity with that of K in (1.3) as

$$G = \begin{pmatrix} G_1 & 0 \\ 0 & -I_{n-r} \end{pmatrix}$$
 where G_1 is the Minkowski metric tensor of order as that of A.

In [5] the concept of range symmetric matrix in Minkowski space m is introduced and developed analogous to that of EP matrices. A matrix $A \in C^{n \times n}$ is said to be range symmetric matrix in $m \Leftrightarrow N(A) = N(A^{\sim})$. In our earlier work [7], we have introduced the concept of k-EP matrices in Minkowski space as an extension of EP matrix in m. In this paper we have introduced the product of two k-EP matrices in m of rank r to be k-EP in mand k-EP block matrices in m.

2. Preliminaries

Lemma 2.1. Let A and B be matrices in *m*. Then $N(A^*) \subseteq N(B^*) \Leftrightarrow N(A^{\sim}) \subseteq N(B^{\sim})$.

Theorem 2.2. [4] For A,B,C $\in C^{m \times n}$, the following are equivalent:

(1) CA⁻B is invariant for every $A^{-} \in C^{n \times m}$

- (2) $N(A) \subseteq N(C)$ and $N(A^*) \subseteq N(B^*)$
- (3) $C = CA^{-}A$ and $B = AA^{-}B$ for every $A^{-} \in \{1\}$

Definition 2.3. [4] Let
$$M = \begin{pmatrix} A & B \\ C & D \end{pmatrix}$$
 (2.1)

be an $n \times n$ matrix. A generalized schur complement of A in M denoted by M/A is defined as D-CA⁻B, where A⁻ is a generalized inverse of A.

If CA⁻B is invariant for all choice of g inverse of A, then this reduces to the Schur complement $M/A = D-CA^{\dagger}B$, where A^{\dagger} the Moore Penrose inverse of A is the unique solution of the equations $AA^{\dagger}A = A$, $A^{\dagger}AA^{\dagger} = A^{\dagger}$, AA^{\dagger} and $A^{\dagger}A$ are Hermitian.

Hence forth we are concerned with n×n matrices M partitioned in the form (2.1) with rk(M) = rk(A) = r

It is well known that [2] M of the form (2.1) satisfies N(A) \subseteq N(C) \Leftrightarrow C = YA = CA⁻A similarly N(A*) \subseteq N(B*) \Leftrightarrow B = AX = AA⁻B and D = CA⁺B = YAX. Hence (2.1) can be written as

 $M = \begin{pmatrix} A & AX \\ YA & YAX \end{pmatrix}$

Definition 2.4. [7] A matrix $A \in C^{n \times n}$, is said to be k-EP in *m* if and only if $N(A) = N(A^{K})$.

Lemma 2.5. [6] For $A \in C^{n \times n}$, the following are equivalent: (1) A is k-EP (2) KA is EP (3) AK is EP (4) KA[†]A = AA[†]K

Remark 2.6. In particular, when k(i) = i for each i, j = 1 to n, then K = I and above Theorem reduces to $A^{\dagger}A = AA^{\dagger}$ which implies that A is an EP matrix ([1], p-163)

Lemma 2.7. [7] For $A \in C^{n \times n}$, the following are equivalent: (1) A is k-EP in *m* (2) GA is k-EP (3) AG is k-EP

Theorem 2.8. [8] Let M be of the form (2.1), with rk(M) = rk(A) = r then M is k-EP matrix in *m* with $k = k_1k_2 \Leftrightarrow A$ is k_1 -EP in *m* and $CA^{\dagger}K_1 = -G_1(A^{\dagger}BK_2)^{\sim}$

3. Product of k-EP matrices in Minkowski space:

In this section we have obtained necessary and sufficient conditions for the product of two k-EP matrices in m of rank r to be k-EP in m. Later we have extended the result to k-EP block matrices in m.

Theorem 3.1. Let A and B be k-EP matrices in *m* of rank r and AB be of rank r. Then AB is k-EP matrix in *m* of rank r if and only if N(A) = N(B). **Proof:** AB is k-EP matrix in *m* of rank r \Rightarrow N(AB) = N(AB)[~]K (by Definition 2.4) \Rightarrow N(B) = N(B^A)K, since rk(B) = rk(AB) = r (by P.1) \Rightarrow N(B) \subseteq N(A^{*}K) \Rightarrow N(B) \subseteq N(A) (by Definition 2.4) \Rightarrow N(B) = N(A), since rk(A) = rk(B) = r Conversely, Let N(A) = N(B). To prove that AB is k-EP in *m*. Clearly $N(AB) \subset N(B)$. Since rk(AB) = rk(B) = r, we get N(AB) = N(B)(3.1) $N((AB)^{\sim}K) = N(B^{\sim}A^{\sim}) K \subseteq N(A^{\sim}K) = N(A)$ (by Definition 2.4) Now $N(A) = N(A^{K}) \Longrightarrow rk(A^{K}) = rk(A) = r$ $N(B) = N(B^{K}) \Longrightarrow rk(B^{K}) = rk(B) = r$ $N((AB)^{\tilde{}}K) \subseteq N(A)$ $rk(AB) \tilde{K} = rk(AB) \tilde{K} = rk(AB) = r$ $N((AB)^{K}) = N(A)$, since rk(A) = r(3.2)From (3.1) and (3.2) we get $N(AB) = N(AB)^{\sim}K$, since N(A) = N(B)Thus AB is k-EP in *m*.

Theorem 3.2. Let A, B and AB be k-EP matrices in *m* of rank r and BA is of rank r, then BA is k-EP_r matrix in m. **Proof:** Let A, B and AB be k-EP matrices in *m* and rk(AB) = rk(A) = rk(B) = rWe claim BA is k-EP_r in *m*. $N(BA) \subset N(A)$ rk(BA) = rk(A) = r(3.3)Therefore N(BA) = N(A) $N(AB) \subseteq N(B)$ rk(AB) = rk(B) = rTherefore N(AB) = N(B)(3.4)by Theorem (3.1), N(A) = N(B)Therefore N(BA) = N(AB)(3.5)Also $N(BA)^{\sim}K = N(A^{\sim}B^{\sim})K \subseteq N(B^{\sim}K) = N(B)$ $N(BA)^{\sim}K \subseteq N(B) = N(AB)$ $N(BA) \sim K \subseteq N(AB)$ rk(BA) K = rk(BA) = rk(BA) = rk(A) = r $N(BA)^{\sim}K = N(AB)$ (3.6) From (3.5) and (3.6) it follows that $N(BA) = N(BA)^{\sim}K$ Therefore BA is k-EPr matrix in *m*.

Lemma 3.3. For complex matrices A and B , $N(A^*K) \subseteq N(B^*K)$ if and only if $N(A^K) \subseteq N(B^K)$

Proof: Let us assume that $N(A^*K) \subseteq N(B^*K)$ we need to prove $N(A^K) \subseteq N(B^K)$ Let us choose $x \in N(A^{K}) \Longrightarrow A^{K}x = 0$ \Rightarrow GA*GKx = 0 $\Rightarrow A*GKx = 0$ $\Rightarrow A*KKGKx = 0$ (by P.2) \Rightarrow A*Ky = 0, where y = KGKx, and hence Ky = GKx \Rightarrow y \in N(A*K) \subseteq N(B*K) $\Rightarrow B*Ky = 0$ $\Rightarrow B*GKx = 0$ \Rightarrow GB*GKx = 0 $\Rightarrow B^{K}x = 0$ \Rightarrow x \in N(B[~]K) Thus $N(A^{K}) \subseteq N(B^{K})$. Conversely, let us assume that $N(A^{K}) \subseteq N(B^{K})$. We need to prove that $N(A^*K) \subseteq N(B^*K)$ Let us choose $x \in N(A^*K) \Rightarrow A^*Kx = 0$ \Rightarrow GA*GGKx = 0 $\Rightarrow A^{\tilde{G}}Kx = 0$ $\Rightarrow A^{\sim} Ky = 0$, where y = KGKx \Rightarrow y \in N(A^{*}K) \subseteq N(B^{*}K). $\Rightarrow B^{K}y = 0$ \Rightarrow GB*GKy = 0 \Rightarrow GB*GGKx = 0 $\Rightarrow B^*Kx = 0$ \Rightarrow x \in N(B*K) Thus $N(A^*K) \subseteq N(B^*K)$. Hence the result.

Lemma 3.4. Let M be of the form (2.1) be k-EP in *m* with $k = k_1k_2$ A is k_1 -EP in *m* and there exists an r×(n-r) matrix X such that

$$M = \begin{pmatrix} A & AX \\ -G_1K_2 \sim X \sim K_1A & -G_1K_2 \sim X \sim K_1AX \end{pmatrix}$$

Proof: Since M is of the form (2.1) by using Lemma 3.3 and Theorem 2.2, M satisfy $N(A) \subset N(C), N(A^*) \subseteq N(B^*) \Leftrightarrow N(A^*K_1) \subseteq N(B^*K_1) \Leftrightarrow N(A^*K_1) \subset N(B^*K_1)$ and D = $CA^{\dagger}B$. Hence there exist (n-r) \times r matrix Y and n \times (n-r) matrix X such that C = YA and B=AX. Since A is k_1 -EP in *m* by using Lemma (2.7) and Remark (2.6), K_1G_1A is EP $(K_1G_1A)(K_1G_1A)^{\dagger} = (K_1G_1A)^{\dagger}(K_1G_1A)$ $= A^{\dagger}G_{1}K_{1} K_{1}G_{1}A_{1}$, since $G_{1} = G_{1}^{\dagger}$, $K_{1} = K_{1}^{\dagger}$ $K_1G_1AA^{T}G_1K_1$ $= A^{\dagger}A$ (by (1.1) & (P.2)) (3.7) $CA^{\dagger}K_1 = -G_1 K_2^{\sim} (A^{\dagger}B)^{\sim}$ (by Theorem 2.8) $CA^{\dagger} = -G_1 K_2^{\sim} (A^{\dagger}B)^{\sim}K_1$ $= -G_1 K_2 (A^{\dagger}AX) K_1$ $(by B = AA^{-}B = AX)$ $= -G_1 K_2 \tilde{X} (A^{\dagger}A) \tilde{K}_1$ (by (P.1)) $= -G_1 K_2 X^{\sim} G_1 (A^{\dagger}A) G_1 K_1$ (by (1.2))

 $\begin{array}{rl} CA^{\dagger} &= -G_1 \ K_2 \ \ X \ \ K_1 AA^{\dagger} & (by \ (3.7)) \\ C &= CA^{\dagger}A = -G_1 \ K_2 \ \ X \ \ K_1 AA^{\dagger}A & (since \ N(A) \underline{\subset} N(C)) \\ Therefore \ C &= -G_1 \ K_2 \ \ X \ \ K_1A \ and \ D = CA^{\dagger}B = -G_1 \ K_2 \ \ X \ \ K_1AA^{\dagger}AX \\ &= -G_1 \ K_2 \ \ X \ \ K_1AX. \end{array}$

$$M = \begin{pmatrix} A & AX \\ -G_1K_2 \sim X \sim K_1A & -G_1K_2 \sim X \sim K_1AX \end{pmatrix}$$

Theorem 3.5.

Let $M = \begin{pmatrix} A & B \\ C & D \end{pmatrix}$ and $L = \begin{pmatrix} F & U \\ H & K \end{pmatrix}$, be k-EP in *m* with $k = k_1k_2$ both of the form (2.1) and ML be of rank r, then the following are equivalent (i) ML is k-EP in *m* with $k = k_1k_2$ (ii) AF is k_1 -EP in *m* CA[†] = HF[†] (iii) AF is k_1 -EP in *m* A[†]B = F[†]U

Proof: Since M and L are of the form (2.1) by Lemma (3.4) there exists $r \times (n-r)$ matrices X and Y such that

$$M = \begin{pmatrix} A & AX \\ -G_{1}K_{2}^{-}X^{-}K_{1}A & -G_{1}K_{2}^{-}X^{-}K_{1}AX \end{pmatrix}$$

$$L = \begin{pmatrix} F & FY \\ -G_{1}K_{2}^{-}Y^{-}K_{1}F & -G_{1}K_{2}^{-}Y^{-}K_{1}FY \end{pmatrix}$$
Now ML =
$$\begin{pmatrix} A & AX \\ -G_{1}K_{2}^{-}X^{-}K_{1}A & -G_{1}K_{2}^{-}X^{-}K_{1}AX \end{pmatrix} \begin{pmatrix} F & FY \\ -G_{1}K_{2}^{-}Y^{-}K_{1}F & -G_{1}K_{2}^{-}Y^{-}K_{1}FY \end{pmatrix}$$

$$= \begin{pmatrix} A(I-XG_{1}K_{2}^{-}Y^{-}K_{1})F & A(I-XG_{1}K_{2}^{-}Y^{-}K_{1})FY \\ -G_{1}K_{2}^{-}X^{-}K_{1}A & (I-XG_{1}K_{2}^{-}Y^{-}K_{1})F & -G_{1}K_{2}^{-}X^{-}K_{1}A & (I-XG_{1}K_{2}^{-}Y^{-}K_{1})FY \end{pmatrix}$$

$$= \begin{pmatrix} AZF & AZFY \\ -G_{1}K_{2}^{-}X^{-}K_{1}AZF & -G_{1}K_{2}^{-}X^{-}K_{1}AZFY \end{pmatrix}$$

where $Z = I-XG_1K_2 Y K_1$. Clearly, $N(AZF) \subset N(-G_1K_2 X K_1AZF) = N(G_1K_2 X K_1AZF)$, $N(AZF) \subset N(AZFY)$ and the schur complement of AZF in ML is zero. For

 $ML/AZF = -G_1K_2^{\sim}X^{\sim}K_1AZFY + G_1K_2^{\sim}X^{\sim}K_1AZF(AZF)^{\dagger}(AZF)Y$ $= -G_1K_2^{\sim}X^{\sim}K_1AZFY + G_1K_2^{\sim}X^{\sim}K_1AZFY = 0$ Hence rk(AZF) = rk(ML) = r. Thus ML is also of the form (2.1). Since M and L are k-EP in *m*. By Theorem (2.8) and Lemma(3.4), A and F are k_1 -EP in *m*. Now $-G_1(K_1(A^{\dagger}AX)K_2)^{\sim} = -G_1K_2^{\sim}(A^{\dagger}AX)^{\sim}GK_1G$ (by (P.1) & (P.3)) $= -G_1 K_2 (A^{\dagger} A X) K_1$ (by (P.3)) $= -G_1K_2 X (A^{\dagger}A) K_1$ (by (P.1)) $= -G_1 K_2 \tilde{X} G_1 (A^{\dagger} A) * G_1 K_1$ (by (1.2)) $= -\mathbf{G}_1\mathbf{K}_2^{\mathsf{T}}\mathbf{X}^{\mathsf{T}}\mathbf{K}_1\mathbf{K}_1\mathbf{G}_1(\mathbf{A}^{\mathsf{T}}\mathbf{A})^{\mathsf{T}}\mathbf{G}_1\mathbf{K}_1$ (by (P.2)) $= -G_1 K_2 X K_1 K_1 G_1 (A^{\dagger} A) G_1 K_1$ $= -G_1K_2 K_1A A^{\dagger}$ (by (3.7)) Similarly it can be proved that $-G_1K_2 \tilde{Y} K_1FF^{\dagger} = -G_1(K_1(F^{\dagger}FY)K_2) \tilde{K}_2)$. We now claim AZF is k_1 -EP in *m*. N(F) \subset N(AZF), and rk(AZF) = rk(F) = r, hence it follows N(F) = N(AZF). Also N(A⁻K₁) \subset N(AZF)⁻K₁ and rk((AZF)⁻K₁) = rk(AZF) = rk(A) = r = rk(F), $N(A) = N(A^{\tilde{}}K_1) = N(AZF)^{\tilde{}}K_1 = N(F).$ Thus $N(AZF) = N(AZF)^{-}K_1$ and hence AZF is k_1 -EP in **m**. By Lemma (2.5) and Lemma (2.7) K_1G_1AZF is EPr and by using (3.7) we have $K_1G_1AZF(AZF)^{\dagger}G_1K_1 = (AZF)^{\dagger}AZF$ (3.8)By using (3.8) for N(AZF) = N(F), N(AZF)^{K_1} = N(A^{K_1}) = N(A) we get $(AZF)(AZF)^{\dagger} = FF^{\dagger} = K_1G_1(AZF)^{\dagger}AZF G_1K_1$ and $(AZF)^{\dagger}AZF = A^{\dagger}A = K_1G_1AA^{\dagger}G_1K_1$ (3.9)Since $H = -G_1K_2 \cdot Y \cdot K_1F$ and $C = -G_1K_2 \cdot X \cdot K_1A$. We have $HF^{\dagger} = -G_1K_2^{\gamma}Y^{\kappa}K_1FF^{\dagger}$ (by 3.9) $= -G_1 K_2 \tilde{Y} K_1 K_1 G_1 (AZF)^{\dagger} (AZF) G_1 K_1$ $= -G_1K_2 Y^{T} (AZF)^{\dagger} (AZF)^{T} K_1$ (by P.2) $= -G_1 K_2 \tilde{Y} [(AZF)^{\dagger} (AZF)] \tilde{K}_1$ (by P.3) $= -G_1[K_1((AZF)^{\dagger}(AZF))YK_2]^{\sim}$ Similarly by using (3.9), we have $CA^{\dagger} = -G_1K_2 K_1 AZF(AZF)^{\dagger}$ Therefore $CA^{\dagger} = HF^{\dagger} \Leftrightarrow -G_1K_2 \tilde{X} \tilde{K}_1AZF(AZF)^{\dagger} = -G_1[K_1((AZF)^{\dagger}(AZF))YK_2]^{\dagger}$ (3.10)Now the proof runs as follows: ML is k-EP in $m \Leftrightarrow AZF$ is k₁-EP in m and $G_1K_2 \tilde{X} K_1 AZF(AZF)^{\dagger} = G_1[K_1((AZF)^{\dagger}(AZF))YK_2]^{\dagger}$ \Leftrightarrow AZF is k₁-EP in **m** and CA[†] = HF[†] (by 3.10) \Leftrightarrow N(AZF)=N((AZF)[~]K₁) and CA[†] = HF[†] \Leftrightarrow N(F)=N(A^{*}K₁) = N(A) and CA[†] = HF[†] \Leftrightarrow AF is k₁-EP in **m** and CA[†] = HF[†] (by Theorem 3.1) \Leftrightarrow AF is k₁-EP in **m** and A[†]B = F[†]U (by Theorem 2.8) Hence the theorem.

Theorem 3.6. Let A and B be k-EP in *m* of rank r. Then N(A) = N(B) if and only if $N(PAP^{K}) = N(PBP^{K})$ where P is unitary in unitary space. **Proof:** Let A and B be k-EP in *m*

Assume N(A) = N(B)
We prove N(PAP⁻K) = N(PBP⁻K)

$$x \in N(PAP^{-}K) \Leftrightarrow PAP^{-}Kx = 0$$

 $\Leftrightarrow AP^{-}Kx = 0$
 $\Leftrightarrow AY = 0$ where $y = P^{-}Kx$
 $\Leftrightarrow y \in N (A) = N(B)$
 $\Leftrightarrow By = 0$
 $x \in N(PAP^{-}K) \Leftrightarrow BP^{-}Kx = 0$
 $\Leftrightarrow PBP^{-}Kx = 0$
 $\Leftrightarrow x \in N(PBP^{-}K)$
Thus N(A) = N(B) $\Rightarrow N(PAP^{-}K) = N(PBP^{-}K)$
Conversely we assume that
 $N(PAP^{-}K) = N(PBP^{-}K)$ we claim N(A) = N(B)
 $x \in N(A) \Leftrightarrow Ax = 0$
 $\Leftrightarrow AP^{-}Ky = 0$
 $\Leftrightarrow PAP^{-}Ky = 0$
 $\Leftrightarrow y \in N (PAP^{-}K) = N(PBP^{-}K)$
 $\Leftrightarrow PBP^{-}Ky = 0$
 $\Leftrightarrow BP^{-}Ky = 0$
 $\Leftrightarrow Bx = 0$
Thus N(PAP^{-}K) = N(PBP^{-}K) $\Rightarrow N(A) = N(B)$.

Product Decomposition of k-EP matrices in m

Theorem 3.7. Let M be of the form (2.1) be k-EP in *m* with $k = k_1k_2$. Then M can be written as a product of k-EP matrices in *m*.

Proof: Since M is of the form (2.1) and M is k-EP in m, by Lemma (3.4), A is k_1 -EP in m

and M =
$$\begin{pmatrix} A & AX \\ -G_1K_2 X K_1A & -G_1K_2 X K_1AX \end{pmatrix}$$

Since M is k-EP in *m*, by Lemma (2.7), GM is k-EP_r, where

$$\begin{aligned} & GM = \begin{pmatrix} G_{1} & 0 \\ 0 & -I \end{pmatrix} \begin{pmatrix} A & AX \\ -G_{1}K_{2}^{-}X^{-}K_{1}A & -G_{1}K_{2}^{-}X^{-}K_{1}AX \end{pmatrix} \\ & = \begin{pmatrix} G_{1}A & G_{1}AX \\ G_{1}K_{2}^{-}X^{-}K_{1}A & G_{1}K_{2}^{-}X^{-}K_{1}AX \end{pmatrix} \\ & Consider P = \begin{pmatrix} G_{1}AA^{\dagger}G_{1} & G_{1}AA^{\dagger}G_{1}K_{1}XK_{2} \\ K_{2}X^{*}K_{1}G_{1}AA^{\dagger}G_{1} & K_{2}X^{*}K_{1}G_{1}AA^{\dagger}G_{1}K_{1}XK_{2} \end{pmatrix}, \quad L = \begin{pmatrix} G_{1}A & 0 \\ 0 & 0 \end{pmatrix}, \end{aligned}$$

$$Q = \begin{pmatrix} A^{\dagger}A & A^{\dagger}AX \\ X^{*}A^{\dagger}A & X^{*}A^{\dagger}AX \end{pmatrix}$$
By using (1.1)

$$P^{*} = \begin{pmatrix} (G_{1}AA^{\dagger}G_{1})^{*} & (K_{2}X^{*}K_{1}G_{1}AA^{\dagger}G_{1})^{*} \\ (G_{1}AA^{\dagger}G_{1}K_{1}XK_{2})^{*} & (K_{2}X^{*}K_{1}G_{1}AA^{\dagger}G_{1}K_{1}XK_{2})^{*} \end{pmatrix}$$

$$= \begin{pmatrix} G_{1}(AA^{\dagger})^{*}G_{1} & G_{1}(AA^{\dagger})^{*}G_{1}K_{1}XK_{2} \\ K_{2}X^{*}K_{1}G_{1}(AA^{\dagger})^{*}G_{1} & K_{2}X^{*}K_{1}G_{1}(AA^{\dagger})^{*}G_{1}K_{1}XK_{2} \end{pmatrix}$$

$$= \begin{pmatrix} G_{1}AA^{\dagger}G_{1} & G_{1}AA^{\dagger}G_{1}K_{1}XK_{2} \\ K_{2}X^{*}K_{1}G_{1}AA^{\dagger}G_{1} & K_{2}X^{*}K_{1}G_{1}AA^{\dagger}G_{1}K_{1}XK_{2} \end{pmatrix} = P.$$

Similarly $Q^* = Q$ can be proved. Thus $P = P^*$ and $Q = Q^*$ and therefore P, Q are EP_r. Since A is k-EPr in *m* by Lemma (2.7) G₁A is EP_r and hence L is EP_r. Now

$$\begin{aligned} \text{PLQ} &= \begin{pmatrix} G_1 A A^{\dagger} G_1 & G_1 A A^{\dagger} G_1 K_1 X K_2 \\ K_2 X^* K_1 G_1 A A^{\dagger} G_1 & K_2 X^* K_1 G_1 A A^{\dagger} G_1 K_1 X K_2 \end{pmatrix} \begin{pmatrix} G_1 A & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} A^{\dagger} A & A^{\dagger} A X \\ X^* A^{\dagger} A & X^* A^{\dagger} A X \end{pmatrix} \\ &= \begin{pmatrix} G_1 A A^{\dagger} G_1 G_1 A & 0 \\ K_2 X^* K_1 G_1 A A^{\dagger} G_1 G_1 A & 0 \end{pmatrix} \begin{pmatrix} A^{\dagger} A & A^{\dagger} A X \\ X^* A^{\dagger} A & X^* A^{\dagger} A X \end{pmatrix} \\ &= \begin{pmatrix} G_1 A & 0 \\ K_2 X^* K_1 G_1 A & 0 \end{pmatrix} \begin{pmatrix} A^{\dagger} A & A^{\dagger} A X \\ X^* A^{\dagger} A & X^* A^{\dagger} A X \end{pmatrix} \\ &= \begin{pmatrix} G_1 A A^{\dagger} A & G_1 A A^{\dagger} A X \\ K_2 X^* K_1 G_1 A A^{\dagger} A & K_2 X^* K_1 G_1 A A^{\dagger} A X \end{pmatrix} \\ &= \begin{pmatrix} G_1 A A^{\dagger} A & G_1 A A^{\dagger} A X \\ K_2 X^* K_1 G_1 A K_2 X^* K_1 G_1 A A^{\dagger} A X \end{pmatrix} \\ &= \begin{pmatrix} G_1 A & G_1 A X \\ G_1 (K_1 X K_2)^{-7} A & G_1 (K_1 X K_2)^{-7} A X \end{pmatrix} \\ &= \begin{pmatrix} G_1 A & G_1 A X \\ G_1 K_2^- X^* G K_1 G A & G_1 K_2^- X^* G K_1 G A X \end{pmatrix} \end{aligned}$$

$$= \begin{pmatrix} G_1 A & G_1 A X \\ G_1 K_2 \tilde{X} K_1 A & G_1 K_2 \tilde{X} K_1 A X \end{pmatrix}$$
$$= GM.$$

By using (1.1), M = GPLQ = (GP)(LG)(GQ). Since P, Q, L are k-EP by Lemma (2.7), it follows that GP, LG, GQ are k-EP in *m*. Thus k-EP matrix M in *m* is expressed as a product of k-EP matrices in *m*.

REFERENCES

- 1. A.Ben Israel and T.N.E. Greville, *Generalized Inverses, Theory and Applications*, Second edition, Canadian Math. Soc. Books in Mathematics, Springer Verlag, New York, Vol.15, 2003.
- D.Carlson, E.Haynsworth and T.Markham, A generalization of the Schur complement by the Moore-Penrose inverse, *SIAM. J. Appl. Math.*, 26(1974) 169-175.
- 3. R.D.Hill and S.R.Waters, On k-real and k-Hermitian matrices, *Linear Alg. Appln.* 169 (1992) 17-29.
- 4. AR.Meenakshi, On schur complements in an EP matrix, *Periodica Math. Hung.*, 16 (1985) 193-200.
- 5. AR.Meenakshi, Range symmetric matrices in Minkowski space, *Bull. Malaysian Math. Sci. Soc.*, 23 (2000) 45-52.
- 6. AR.Meenakshi and S. Krishnamoorthy, On k-EP matrices, *Linear Alg. Appln.*, 269 (1998) 219-232.
- 7. AR.Meenakshi and K. Bharathi, On k-EP matrices in Minkowski space, *Antarctica Journal of Mathematics*, 8(3) (2011)191-198.
- 8. AR.Meenakshi and K.Bharathi, On Schur complement in k-EP matrices in Minkowski space, preprint.
- 9. C.R.Rao and S.K.Mitra, Generalized Inverses of Matrices and its Applications, Wiley and Sons, NewYork, 1971.